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Note : Answer questions from each Section as per

instructions given.

Section—I

Note : Answer any two questions from this Section.

1. (a) An individual consumer’s utility function
is :
U=q .9
and her money income is (Y) 100, while
the prices are P = ¥ 2 and P, = ¥ 5. Find
the values of ¢, and ¢, commodities and
determine the substitution, income and the

price effect. 15

P.T.O.

(b)

(a)

(b)

(©
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Explain the optimum choice of a consumer

under the ‘Linear Expenditure System’. 5

In the context of asymmetric information,

how will you find second best solution ? 10

The vNM utility function of an individual

1
is u = m2. If her initial wealth is 36, will

she accept a gamble in which she wins 13

with & probability of w and Tose 11 with

probability of W ? )

Explain Nash equilibrium with an

example. 5

Construct ordinary and compensated
demand function for the utility function

U =2¢q,.9, + q,. Let the budget constraint
be Y = Pig; + P,q,, where P, is the price of
good ¢, P, is the price of good ¢, and let

consumer’s income be given by Y. 10
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(b) A physician in a small village charges
higher price for check-up to rich patients
whereas lower prices to poor patients. Why

does she charge different prices ? 5

(¢) Prove diagrammatically that a
monopolistic firm charges a higher price

than a competitive firm. 5
4. Differentiate between the following :  4x5=20
(1) Excess capacity and Reserve capacity

(1) First fundamental welfare theorem and

Second fundamental welfare theorem
(i11) Static and Dynamic games

(iv) Strong Pareto optimal and weakly Pareto

optimal
Section—II

Note : Answer any five questions from this

Section.

5. (a) Prove that constant returns to scale shows

diminishing returns to a variable factor. 6

P.T.O.

(b)

(a)

(b)

(a)

(b)

(a)
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How would you establish the duality
between cost minimization and output

maximization ? 6

Distinguish between public goods and
private goods. Explain characteristics of
public good that lead to inefficient resource

allocation. 6

Explain the difference between adverse
selection and moral hazard in insurance

markets. Can one exist without the other ?

6

Describe  the  long-run  equilibrium
conditions of the firm and industry in

competitive market. 6

What is reaction function ? In an oligopoly
market with two firms, industry demand is
given as Q =100—-2P and marginal cost

(MC) =5, where Q=g¢;+¢,. Find the
reaction functions of the firms. 6
Explain synergistic relationship between

two players in the context of game theory.
Ilustrate. 6



9,

(b)

(@)

(b)
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India and Pakistan spend millions of
rupees on defense. This money could
instead be used for productive purposes if
both countries follow the disarmament
strategy. Suppose India follows the
disarmament strategy and Pakistan does
not, then India will be in a weak situation
against the strong situation of Pakistan
and vice-versa. Considering the two
strategies of armament and disarmament,

answer the following :

(1) Write the payoff matrix for this
problem. 3

(11) Does either India or Pakistan have a
dominant strategy ? Explain. 3
What is social optimum and how is it

determined ? 6

Use the minimax method to get the mixed
strategy of the game. Solve the following

game : 6
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10. (a)

(b)
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What is the difference between Separating
and Pooling equilibrium ? State the
situations under which Pooling equilibrium

fails. 6

What do you mean by “weak” in “weak

perfect Bayesian” ? 6

11. Write short notes on any three of the following :

(a)
(b)
(©)
(d)

3x4=12
Contract Curve
Cobweb Model
Equity-Efficiency trade off

Bayesian Nash Equilibrium
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MEC-101 qe SHHR Hifxw ™ (Y) 100 B, Seih

HEI Pp= 2T P= 25 Bl ¢ W

et Treomra ( srefome ) .
g, TR % UH WA HIfT qem waeer,
(Tm. 3. 91) . .
™ T Himd yaE i fAuifEa sifsm 15
|Aq qqew
S|, 2023 (@) @ =99 yorell’ % SR U S
THEH-101 : i onfde fageror % TG TATE! T qUM i) 5
;3 T ST SF 2 100 2 (F)ermfE gETe @ w=d d em frd
giforql
(@)fedt =afsd =1 WNM STl W
el =usw 21 IfE SHep SRf9w ¥ 36 B,
e : Frefafed o 9 forst @t woal & s s F 9% IH SifEH * @Wier wun ey
1. (%) T Afeamd SUAET &1 YA e %mﬁgﬁﬁm;%w%
?
I S yfmar @ 11 e 2 2 5
U=gq .9, 3

P.T.O.
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() SEEW & WY A9 Gged HI A
EalS 5

(F)STARTE B U=2g.qy+q, H AT
= dan afqgfd W wew %1 fmfo
HIT T Fida Y = Pg, + Pyg, ©, V&I
P T g H HED T TP, A g, H
HIHd & TS YW FH ™ Y & T B

10

(@) fafercas tw i W § o A 5t
Si9 %9 SO9 HI9d 9gd Al €, S
e WE @ w9 F9d aga w@ ¢ T8
S-S HIA] age A B & 2?5

(T7) 3TE w GeEal 9§ fag wifsw v
et w9 gfaart wH &t qem #
fush HHd agd w2 5

frafafea o favgg wifsu 4x5=20
@) oAfafea smaar qen oRfera et

(ii) THH-IMURYA HET pepi qen
[EGIREE Btk T b =P

P.T.O.
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(iti) fIf%RT (Static) @& 3T |HA (Dynamic)
T

(iv) Yo WL gad qun g e gead

Que—II

e : frafafed & ¥ el e we @ SW

gifsru)

5. (F)fag =it 6 TR & fer sfdwa

WA & BEAEE Sfawe 1 < 6

(@) AT AqHIRTOT TS IR STfeehaHTeh ol
% T AR 1 T hd Tfd w4 ?

6

6. (F)TESH dqu i awgsi & T =K

FHIfSC| GEeeh axgeti @t 39 fowwme
FI FRAT HIfST S STHTA GETEA ST
I 3N o W B 6

(@) Rl § wfdhe w9 iR Afdew depe
% HY AR TR FHIWU F TH HI
A T & T B Thdl §? 6
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. (T gfeart 9eR H ®wH den SEim @

SrERTel T 1 qui o) 6
(@) faferan wer o1 € ? Th e SR
¥ owd ® SEim um Q=100-2P 3R
UM AR (MC) =5 §, ST&l Q=g+, |
1 ®H & Jfafear wed | sifsu) 6

. (F)Ed fagm ® =y ¥ 9 foefedl & &=

UEfohaTcHsh Ty &1 e iU
ITET] ThY TR HITST 6

(@)9Rd 3R uifre 1 W orE T e
W El 39H a6 TW GE K WA SARE
e & fau fma o1 @@ ® afz S W
TreeiisRtor Wiifa 1 sTgERer i 7= s
o oRa Fefeor =1 Hifq &1 wem w8
A NG iR ® Aeem fefa & foeg
FAsR feafd & grm o gEen fawda o)
gy 3R FRGRr &t & WAt ® e
H W gu frfafed & s G
() 9 HEn Bg - Hipw (gmm)

fafau) 3

() H 9RG @ e § ¥ fowd & U9
el O § ? SEEsy 3

P.T.O.
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9. (%)UmIferh TaW 1 B qUl UE HY i
fohan St © 2 6
(@)ea = fafya gfm o @ = fou
Aiteer fafy o1 gam wifsw frafataa
TA &I BA HIGT ; 6

B
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10. (®)fRdT GASFHER  (Pooling) HrATEwem qef
IERISREAR (Separating) GT=EET & oY

F I B B ? A feafqdl # WR B
gaRy fS 9 ot arraeen fawe g

S 2 6

(@) Fe (weak) Al Sfeem § “frea” @

31T 1 G © 2 6

11. frefafes & ¥ ff=t @9 W dfaa feoforat

fafay - 3x4=12
(%) Wfa= =k

(@) dgeme (efag) gfaed

(M) \r-gRed g

(7)  SEfeEE e g
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